FRAME WALL
F2550-6

Do not use for walls exciting 8'-0” high or with
horizontal breaks.


cbosch
Text Box
Do not use for walls exciting 8'-0” high or with horizontal breaks. 



THIS DOCUMENT CONTAINS PROPRIETARY
INFORMATION WHICH MAY NOT BE
DISCLOSED TO OTHERS FOR ANY PURPOSE
WITHOUT WRITTEN PERMISSION FROM

PROJECT NAME:

SUBMITTAL REVISION:
APPROVED BY:

PLASCORE INC. DATE:
48,007
CODE COLOR
A SHELL WHITE
- ‘ B |DESIGNER WHITE
Z SATIN ANODIZED
AR ZA |Anod. w/Shell Enc. Cap
ZB |Anod. w/Design Enc. Cap
ZG |Anod. w/Driftwood Grey Enc. Cap
ZC |Anodized w/Black Enc. Cap
— o~
&_G\ 9 |2 |[33774 GASKET, HEADTRACK WHITE
v 8 | 33 |831113 HEADTRACK, 2.38" AB, or
7 |2 (830603 GLAZING CLIP, SINGLE AB, or G
<—@ 6 |- 868008 SCREW, BATTEN PPH 10-24 x 7/16" ZINC PLATE
5 |1 830606 ENCLOSURE CAP AB, or G
4 1 830647 T—BATTEN, 2” AB, or Z
3 |1 831934 POST, THIN FRAMED F2550 AB, or Z
2 | .33 (831937 FLOOR TRACK, LCS AB, or Z
- @ ik —[PaNEL 25 AB, or J
UNLESS OTHERWISE _— 615 N. FAIRVIEW STREET
speciFiep, pivensions | @00 P | ASCORE  ZEELaND, MICHIGAN 49464

ARE IN INCHES AND
TOLERANCES ON:

XXXXX|] = CRITICAL DIM

(616) 772—1220

DWG TITLE:

LEVEL 2 ” .
KEXXK® = CRITICAL DIM 1/4” F2550 Wall Elevation
LEVEL 3
EE@?JL?_’;S= =Xi:|:(1)/1 16 ['SizE [FscMm DWG NUMBER REV
' )&=igigg A 39212 S0062 A
XXX=+0.01 |DRAWN BY: G. WOLTERS DATE: 10-9-02
ANGLES: = + 28 ENGRG: QC APP.
CAD# S0062 SCALE: NTS SHEET: 1 1




THIS DOCUMENT CONTAINS PROPRIETARY
INFORMATION WHICH MAY NOT BE
DISCLOSED TO OTHERS FOR ANY PURPOSE
WITHOUT WRITTEN PERMISSION FROM

PROJECT NAME.:
SUBMITTAL REVISION:
APPROVED BY:

PLASCORE INC. DATE
CODE COLOR
A |SHELL WHITE
B |DESIGNER WHITE
C |BLACK
D |INTEL BLUE C1088
G |DRIFTWOOD GREY
J |POLAR WHITE
K |TOO BEIGE
L KERMIT GREEN
M |DESERT ROSE
N [INDIGO
T |BUNGALOW
Z [CLEAR ANODIZED _@
ZA |Anod. w/Shell Enc. Cap
ZB |Anod. w/Design Enc. Cap
ZG |Anod. w/Driftvood Grey Enc. Cap
ZC |Anodized w/Black Enc. Cap
— ST | PANEL, .25" AB, or J
—— 2 |2 |830686_ GASKET, HEADTRACK -
111 [831113 HEADTRACK, 2.38" STRAIGHT AB or Z
No.|Qty|ltem No.|Description Finish

UNLESS OTHERWISE
SPECIFIED, DIMENSIONS
ARE IN INCHES AND
TOLERANCES ON:

615 N. FAIRVIEW STREET

PLASCORE zEELaND, MICHIGAN 49464

(616) 772—1220
DWG TITLE:

2.38" STRAIGHT HEADTRACK

XOOH = CRITICAL DIM
”
KEXXK® = CRITICAL DIM WITH .25 PANEL
LEVEL 3 DETAIL (AR)

EE?:?JL\?_ZS: =Xi:|:(1)/1 16 ['SizE [FscMm DWG NUMBER REV
' >2§=$8:8§ A 59212 831072AR —
XXX=+0.01 |DRAWN BY: JT OTTO DATE: 3/05/96

ANGLES: = + 2° ENGRG: QC APP.

CAD# 831072AR SCALE: 1/2 SHEET: 1 OF 1




THIS DOCUMENT CONTAINS PROPRIETARY

INFORMATION WHICH MAY NOT BE

DISCLOSED TO OTHERS FOR ANY PURPOSE
WITHOUT WRITTEN PERMISSION FROM

PROJECT NAME:
SUBMITTAL REVISION:
APPROVED BY:

PLASCORE INC. DATE
CODE COLOR

A |SHELL WHITE

B DESIGNER WHITE

C |BLACK

D INTEL BLUE C1088

G |DRIFTWOOD GREY

J |POLAR WHITE

K |TOO BEIGE

L KERMIT GREEN

M  |DESERT ROSE

N INDIGO

T |BUNGALOW

Z |CLEAR ANODIZED

ZA |Anod. w/Shell Enc. Cap

ZB |Anod. w/Design Enc. Cap

ZG |Anod. w/Driftwood Grey Enc. Cap

ZC |Anodized w/Black Enc. Cap (:)

@

ST | PANEL, .25" AB, or J
2 |1 830603 GLAZING CLIP, SINGLE AB, or G
111 (831114 FLOORTRACK AB or Z
No.|Qty|ltem No.|Description Finish

UNLESS OTHERWISE
SPECIFIED, DIMENSIONS
ARE IN INCHES AND
TOLERANCES ON:

XXXXX| = CRITICAL DIM
s LEVEL 2

XXXXX| = CRITICAL DIM
LEVEL 3

FRACTIONS: = + 1/16
DECIMALS: X=x0.1
X=%0.06
XX=%0.03
XXX=%0.01
ANGLES: = = 2°

T\H

HI

615 N. FAIRVIEW STREET

00 P | ASC(ORFE  ZEELAND, MICHIGAN 49464

(616) 772—-1220

DWG TITLE:
FLOORTRACK
WITH .25” PANEL
DETAIL (BG)
SIZE |FSCM DWG NUMBER REV
A |39212|  831072BG -

DRAWN BY: J. BUTCHER

DATE: 7/25/96

ENGRG:

QC APP.

CAD# 831072BG

SCALE: 1/2

SHEET: 1 OF




THIS DOCUMENT CONTAINS PROPRIETARY
INFORMATION WHICH MAY NOT BE
DISCLOSED TO OTHERS FOR ANY PURPOSE

PROJECT NAME:
SUBMITTAL REVISION:
APPROVED BY:

WITHOUT WRITTEN PERMISSION FROM DATE:
PLASCORE INC.
REV.| DATE |DESCRIPTION SIGNATURE
®
6 |2 |[830603 GLAZING CLIP, SINGLE AB,G, or J
5 |- |868008 SCREW, BATTEN PPH 10-24 x 7/16" ZINC PLATE
4 |1 830606 ENCLOSURE CAP AB,G, or J
3 |1 |830647 T-BATTEN, 2" ABJ, or 7
2 |1 831934 POST, THIN FRAMED AB,J, or 7
112 | PANEL, 0.25 AB,G, or J
No.|Qty|ltem No.|Description Finish
UNLESS OTHERWISE — 615 N. FAIRVIEW STREET
specirien, ovensions | 900 P ASCORE {516y D MTa N 49464
ARE IN INCHES AND ——
cob COLOR TOLERANCES ON: DWG TITLE:
A [Shell White XXXKH = CRIICAL DIM 0.25° PANEL THIN FRAMED WALL
B |Designer White XKL = CRITICAL DiM CONNECTION WITH POST
G |Driftwood Grey LEVEL 3 DETAIL (XG)
J__[Polar White FRACTIONS: = + 1/16 57 [FscM DWG NUMBER REV
Z _|Satin Anodized DECIMALS:  X==0.1
ZA |Anod. w/Shell Enc. Cap x=x006 | A 39212 831072XG —
ZB |Anod. w/Design Enc. Cap = i0-03  IDRAWN BY: A. SCHOUMAN DATE: 02/05/02
ZC |Anodized w/Black Enc. Cap | XXX=£0.01 — '
ZG |Anod. w/Driftwood Grey Enc. Cap ANGLES: = £ 2 ENGRG: SSEQ:-P‘ o

CAD# 831072XG

SCALE: 1/2




THIS DOCUMENT CONTAINS PROPRIETARY

INFORMATION WHICH MAY NOT BE

DISCLOSED TO OTHERS FOR ANY PURPOSE

WITHOUT WRITTEN PERMISSION FROM
PLASCORE INC.

PROJECT NAME:

SUBMITTAL REVISION;
APPROVED BY:

DATE:

CODE COLOR
A |SHELL WHITE
B |DESIGNER WHITE
C |BLACK
D |INTEL BLUE C1088
G |DRIFTWOOD GREY
J |POLAR WHITE
K |TOO BEIGE
L |KERMIT GREEN
M |DESERT ROSE
N |INDIGO
T |BUNGALOW
z

CLEAR ANODIZED

ZA |Anod. w/Shell Enc. Cap

ZB |Anod. w/Design Enc. Cap

ZG |Anod. w/Driftwood Grey Enc. Cap

ZC |Anodized w/Black Enc. Cap

@ éé@@@

6 |2 (830603 GLAZING CLIP, SINGLE AB, or G
5 [4 (840808 SCREW, BATTEN LHSHCS 1/4-20 x 3/8’ -
4 12 830593 BATTEN, 2.50" TEE AB or 7
3 12 (830606 ENCLOSURE CAP AB, or G
2 |1 831111 POST, 2.00" CORNER AB or 7
112 |_ PANEL, .25 AB, or J
No.|Qty|ltem No.|Description Finish
— 615 N. FAIRVIEW STREET
gg'ﬁ%ﬁ-‘?l—:ngm&SsEONs PLASCORE (Zg1Eé-)AN7[;,2 MICHIGAN 49464
ARE IN INCHES AND —
TOLERANCES ON: DWG TITLE:
KKK = CRITICAL DIM .25" PANEL WITH
XXXXX] = CRITICAL DIM 2.00° CORNER POST
LEVEL 3 DETAIL (ED)
[F)EQ%TA'\?_';S‘ =xii2>/116 SIZE [FSCM DWG NUMBER REV
- x=x006 | A |39212 8310/2ED —
XX=10.03
XXX=£0.01 |DRAWN BY: JT OTTO DATE: 8/07/96
ANGLES: = + 2° ENGRG: QC APP.
CAD# 831072ED SCALE: 1/2 SHEET: 1 OF 1




THIS DOCUMENT CONTAINS PROPRIETARY

INFORMATION WHICH MAY NOT BE

DISCLOSED TO OTHERS FOR ANY PURPOSE
WITHOUT WRITTEN PERMISSION FROM

PLASCORE INC.

PROJECT NAME:
SUBMITTAL REVISION;
APPROVED BY:

CODE COLOR
A |SHELL WHITE
B |DESIGNER WHITE
C |BLACK
D |INTEL BLUE C1088
G |DRIFTWOOD GREY
J |POLAR WHITE
K |TOO BEIGE
L |KERMIT GREEN
M |DESERT ROSE
N  |INDIGO
T |BUNGALOW
Z |CLEAR ANODIZED
ZA |Anod. w/Shell Enc. Cap
ZB |Anod. w/Design Enc. Cap

00

Anod. w/Driftwood Grey Enc. Cap

Anodized w/Black Enc. Cap

© OO ®

ARE IN INCHES AND
TOLERANCES ON:

DATE:
REV.| DATE |DESCRIPTION SIGNATURE
A [06/26/02[Changed Detail from ED to ED—1 A.Schouman
6 |2 [830603 GLAZING CLIP, SINGLE AB, or G
5 |4 840808 SCREW, BATTEN LHSHCS 1/4-20 x 3/8" -
4 12 |830593 BATTEN, 2.50° TEE AB or Z
3 |2 830606 ENCLOSURE CAP AB, or G
2 |1 831111 POST, 2.00" CORNER AB or Z
1 12 |- PANEL, .25" AB, or J
No.|Qty|ltem No.|Description Finish
UNLESS OTHERWISE = 615 N. FAIRVIEW STREET
SPECIFIED, DIMENSIONS PLASCORE zEELAND, MicHIGAN 49464

(616) 772-1220

DWG TITLE:

25" PANEL WITH

KO0 = CRITICAL DIM
”
XXXXX] = CRITICAL DIM 2.00° CORNER POST
LEVeL 3 DETAIL (ED—1)

EEQ%TA'\?_';S: =Xij:2)/116 SIZE [FSCM DWG NUMBER REV
' gifig:gg A | 39212 8310/72ED—-1 A
XXX=£0.01 |DRAWN BY: JT OTTO DATE: 8/07/96

ANGLES: = + 2° ENGRG: QC APP.

CAD# 831072ED—1 SCALE: 1/2 SHEET: 1 OF 1




	Plascore Wall Systems
	Technical Data
	Liner Wall L2550-O
	Liner Wall L2550-N
	Strut Wall - S5050-6
	Frame Wall - F5050-6
	Fame Wall - F2550-6
	Frame Wall - 5075-6
	Studless Wall - SL2550-48
	Frame Wall - F2550-48
	Frame Wall F5075-48
	Wide Stile Door
	Narrow Stile Door



